Act lll - Reveal
Using two different methods of approximation we concluded that the child with hands this large must be 11 or
12 stories tall.

119 feet tall = 37.27 meters tall.

110 feet tall = 33.4 meters tall.

Getting there

Source: https://www.cntraveler.com/story/new-lorenzo-quinn-sculpture-in-venice-highlights-the-threat-of-climate-change
https://www.scientificamerican.com/article/human-body-ratios/

https://en.wikipedia.org/wiki/Vitruvius

http://www.ctbuh.org/LinkClick.aspx?fileticket=s4SVxV%2FruCM=
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